
ESPON ( a + b )
n

( a + b )
n

0 ( 1 + 1 )
0

= 1 1 ( 1 + 1 )
0

= 1

1 ( 1 + 1 )
1

= 2 1 1 ( 1 + 1 )
1

= 2

2 ( 1 + 1 )
2

= 4 1 2 1 ( 1 + 1 )
2

= 4

3 ( 1 + 1 )
3

= 8 1 3 3 1 ( 1 + 1 )
3

= 8

4 ( 1 + 1 )
4

= 16 1 4 6 4 1 ( 1 + 1 )
4

= 16

5 ( 1 + 1 )
5

= 32 1 5 10 10 5 1 ( 1 + 1 )
5

= 32

6 ( 1 + 1 )
6

= 64 1 6 15 20 15 6 1 ( 1 + 1 )
6

= 64

7 ( 1 + 1 )
7

= 128 1 7 21 35 35 21 7 1 ( 1 + 1 )
7

= 128

8 ( 1 + 1 )
8

= 256 1 8 28 56 70 56 28 8 1 ( 1 + 1 )
8

= 256

9 ( 1 + 1 )
9

= 512 1 9 36 84 126 126 84 36 9 1 ( 1 + 1 )
9

= 512

10 ( 1 + 1 )
10

= 1024 1 10 45 120 210 252 210 120 45 10 1 ( 1 + 1 )
10

= 1024
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3 ( 1 + 1 ) 3
= 8
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A Cura di Enzo Exposyto

Esempio:
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